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(a)

SECTION A - PHYSICAL OPTIONS
Answer at least one question from this section, but no more than two.

Theme 7 — Our Changing Coastline

Study the photograph below.

(1)

Name the landform shown on the photograph.
Underline the correct answer below. [1]

spit cliff stack

How may sea conditions contribute to erosion along this coastline? [2]

Explain how the type of rocks, shown on the photograph, can also result in rapid
erosion. [3]
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(b)

Study the diagram below which shows the process of longshore drift.

Sea Cliff

Beach

Sea

pd

Explain the process of longshore drift. Match the letters on the diagram to four correct

statements below. Two statements are incorrect.

[4]

Letter Statement

Direction of longshore drift

Backwash

Waves approach the beach from the south east

Waves approach the beach from the south west

Swash

Material is carried up the beach under gravity

© WJEC CBAC Ltd. (4232-01)
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Examiner
. . only
(c) A groyne is a wooden or concrete structure built on a beach.

Study the photograph below.

Explain one advantage and one disadvantage of building groynes on a beach. [4]

Advantage
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(d)  Explain how rising sea levels may affect people.
Use one or more examples to help your answer.

[6+4]

Marks for spelling, punctuation and the accurate use of grammar are allocated to this

question.
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Theme 8 — Weather and Climate

(a)  Study the OS map and the photograph below (a full key is given on page 28).
00 01 02 03 1
23 23 \
22 22
21 21
20 20
00 01 02 03 1
0 1km
e |

(i) Give the height of Pen y Fan.

(i) Peny Fan is the highest peak in this part of Wales.
Add the following words to the correct boxes on the photograph.

steep slope summit rocky outcrops
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(i)  State three ways in which the weather on Pen y Fan may be different to lower areas
of Wales. 3]
(iv)  Use words from the list below to complete the following paragraph. [4]
warmer shadow high milder altitude low
latitude sunshine colder aspect

The slope shown on the photograph is north facing. In winter, slopes which face

northare ... . This is because the slope iSin ... and
the sUN 1S oo in the sky. The name given to the direction a slope
faces 1S 1tS oo .
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(b)

High pressure over the UK in summer

Study the map and photograph below.

|

Weather Cloud amount (oktas)
= mist oo S
= fog D 1orless @ 6
, rain and drizzle ™2 O 7 or more
1 drizzle ®3 @3
rain »4
sk rain and snow
* snow
Air pressure Wind speed (knots)
isob. t 4 mb int |
isobars alozrz intervals ) calm
O— 1-2
O— 3-7
;—Zn:rrl) ?jreat:ar:s Celsius O 8-12
g O— 13-17
for each additional
0 200km half-feather add 5 knots
||

Give two weather conditions which high pressure brings to the UK in summer.
Explain one of them. [4]

Weather CONAITION 15 oo
Weather CONAITION 2 ..o

EXPLANATION: <o
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(¢) How can technology be used to reduce the effects of any two weather hazards?
Use examples to help your answer. [6+4]

Marks for spelling, punctuation and the accurate use of grammar are allocated to this
question.

End of Theme 8 question
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3.

(a)

10

Theme 9 — Living Things

Study the OS map and the photographs below which show Martin Mere Wildfowl and
Wetlands Trust (a full key is given on page 28).

41 42 43 44 45 46
N 17 17
16 16
15 15
14 14
13 13
41 42 43 44 45 46
0 1km
e — |

(1) Identify the following OS map symbol in grid square 4415. #
Underline the correct answer below.

(1]

Visitor centre Nature reserve Picnic site

© WJEC CBAC Ltd. (4232-01)
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(ii)

(iii)

(iv)

11

How does the map show that the land around Martin Mere is flat and low lying?

Suggest why this small ecosystem is a good location for many types of wildlife.
Use the photographs to help you. [3]

Match the following statements to show why many people argue that ecosystems
like these should be protected. [4]
One has been completed for you.

Ecosystems provide people which will create money for
with benefits conservation.

Key services include plants which can make ecosystems

unsustainable.

Small scale tourist projects which can increase the numbers
are developed of plants and animals.

Ecosystems and wildlife are which can be used for medicines.

conserved

Some natural resources can which scientists describe as key
be over used services.

© WJEC CBAC Ltd (4232-01) Turn over.
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(b)

12

For a large ecosystem that you have studied:

(i) Describe evidence that shows that it has been used in an unsustainable way.  [4]

(i) Explain two effects on local people of this unsustainable use. [6+4]

Marks for spelling, punctuation and the accurate use of grammar are allocated to this
question.

End of Theme 9 question
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4.

(a)

13

SECTION B - HUMAN OPTIONS

Answer at least one question from this section, but no more than two.

Theme 10 — Tourism

Study the maps below which show the location of the Forest of Dean, a popular tourist
destination.

N
(\! =’
[

forest
river
boundary
city

town

motorway

0 10 20 30

Kilometres

(1) The Forest of Dean is in which part of England?
Underline the correct answer below.

south east north south west

(i) Name the nearest city and the nearest town to the Forest of Dean.

CIbY . oo
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(b)  Both physical and human factors affect the nature of tourism.

Put the following factors in the correct column below. [4]
cost culture climate sporting events
landscape transport links
Physical factors Human factors

(¢) Study the photographs below of the Forest of Dean.

Suggest how one physical and one human factor make this area popular with visitors.

Physical factor

© WJEC CBAC Ltd. (4232-01)
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Examiner
1
(d) Explain how tourism can bring advantages for both people and the economy. Use an o

example to help your answer. [6+4]

question.

.......................................................................................................................................................................................................

Marks for spelling, punctuation and the accurate use of grammar are allocated to this I

End of Theme 10 question
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Theme 11 — Retail and Urban Change '
5. (a) Study the photograph below.
It shows some food products that may be purchased in the UK.
Plums from ___ |
South Africa Bananas
\ __—from the
- Caribbean
~—— | Cherries
from Chile
RN
~~Oranges from
Apples from - Spain
France -

(i  What name is given to people who purchase (buy) these products in UK shops?[1]
Underline the correct answer below.

consumer producer importer

(1)  Why does the UK buy food products from across the world?
Give two reasons. 2]

(ii1) Describe one environmental problem caused by the high demand for products
from across the world. [3]

© WJEC CBAC Ltd. (4232-01)
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(b)  Study the photograph below.
It shows a shopping centre on the outskirts of a city.

(i) Match the letters on the photograph to the correct descriptions below.

\ \

E D

Letter

Statement

Accessible for customers and deliveries

Customers and workers live close by

Large floor space

Greenfield site

Plenty of room for car parks

© WJEC CBAC Ltd (4232-01)
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(i))  Study the statement below.

We are making people use their cars
to shop out of town on land that
was once green fields.

Why do many people prefer to see retail developments in city centres rather than
on the outskirts of cities? Give two reasons to explain your answer.
Use the statement and your own knowledge. [4]

© WJEC CBAC Ltd. (4232-01)
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(¢) Explain why one regeneration scheme has taken place in a European city you have

studied. [6+4]

Marks for spelling, punctuation and the accurate use of grammar are allocated to this I
question.

.......................................................................................................................................................................................................

End of Theme 11 question
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(a) Read the following passage and study the OS map below (a full key is given on page 28).

20

Theme 12 — Economic Change and Wales

Many aeroplane parts are made in Wales. These include the huge

wings for the A380, made at Airbus UK, Broughton.

To Mostyn Docks

4?\ 42 43 44 45

N 68 46 4768
67 67
66 66
65 65
Airbus UK—
factory T
64 64
63 63
62 62
41 42 43 44 45 46 47
0 1km
e —

(i) In which grid square is the aircraft (Airbus UK) factory?

Underline the correct answer below.

4264 4164 6442
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(i) Name two primary/main roads that pass less than 2km from the factory. [2] o

After assembly, the wings are transported to Mostyn Docks, where they are loaded
onto a specially built ferry which takes them to Toulouse, France.

(ii1)  Explain why roads are important to a factory like this one. [3]

Study the photograph below of the Airbus UK factory.

(iv)  Use the OS map and the photograph above. Give two other reasons why this is a
good site for the factory. [4]

© WJEC CBAC Ltd. (4232-01) Turn over.
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(b)  Study the figures below.
Percentage of people employed in the public sector
Year 2006 2007 2008 2009 2010
Percentage 29.7 294 29.1 30 30.8

Complete the following paragraph using words/figures from the box below.

Sfarmers 59.2% private secondary miners

primary 79.2% nurses tertiary public 69.2%

In Wales employment can either be in the public or private sector. People working in the

......................................................................... sector are employed by the national or local government.

This includes teachers and ... . Many of these jobs provide

services so they are also in the ... sector.

In 2010 the percentage of jobs in the private SECtOr Was ...

© WJEC CBAC Ltd (4232-01)

Examiner
only



23

Examiner
. . . . only
(¢) Choose either the primary or secondary or tertiary sector in any area of Wales you have

studied. Explain how patterns of work are changing in the sector you have chosen.
[6+4]

Marks for spelling, punctuation and the accurate use of grammar are allocated to this I
question.

.......................................................................................................................................................................................................

End of Theme 12 question

END OF PAPER
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